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° Please check that this question paper containg 8 printed pages + 2 Maps.

. Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 30 questions.

e Please write down the Serial Number of the question before attempting
it.

° 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will

read the question paper only and will not write any answer on the answer-book
during this period.
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1. el 1871 H 99T H §U UH TARR A fohueh! s+l 1 wome =fva fean manen? 1
3rerar
1868 % whiad [aree (TfagHl =1 fagg) &1 e 32 91 917

Who was proclaimed German Emperor in a ceremony held at Versailles in
January 1871 ?

OR
What was the main aim of the Scholar Revolt of 1868 ?

2. ‘TeR Y wie’ TRy YR fRUEl % o et € 7 1

How are ‘Gobar gas plants’ beneficial to the farmers ?

3.  EEUSE S ST AT 991 FREE ST &5 0 R i A e st 99 1
g 3 oo 95 Had €2

Why do MNCs set up their offices and factories in those regions where they get
cheap labour and other resources ?

4. AR ATIR BRI STHF 1 HF 4 TA0% T3 8, o (59 Inedi Afosn & o=riq. 1
TE THFAA FI YR & (6 SR =1 S FFaT ¢ 2

If any damage 1s done to a consumer by a trader, under which consumer right
one can move to consumer court to get compensation.

5. gaE UYEl AR Tk gall H T 3T I Shifeg | 1
Distinguish between pressure groups and political parties by stating any one
point of distinction.

6. A A Sgacild YOled! bl i TIE? 1

Why did India adopt multi-party system ?

7. o favm & < fea wRl & ™ fAfen) Yt14=1

Name any two sectional interest groups.
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TH YA F B F AT Sl & fa5R %1 HEdl Savasd %I UF 9 ey L
fog =i |

Prove with an argument that there is a great need to expand formal sources of
credit in rural India.

“aTeR A Susiiet w1 mRen & fau fraw @i fafresi @ dewma e 21 59
HUA & AN e | 3x1=3

“Rules and regulations are required for the protection of the consumers in the
market place.” Justify the statement with arguments.

Sfed qATE HHE F1 8 7 ITh! HE TUIE! o1 vl i | 1+2=3

What are public interest pressure groups ? Describe their functioning.

alsita Trertfaes ot § o Aty ® 2 C dnfe Temifas el st HeEn g s

% o aAevass vl @1 Sead it | 1+2=3
What is meant by regional political party 7 State the conditions required to be
recognised as a regional political party’.

A H AT foss % R 30 maiEeie fefw =1 9 #35 F o o

T 39 g | 3x1=3

Suggest any three steps to minimise the environmental degradation caused by
the industrial development in India.

XS H SIS WAl TR HT I 9 T8 ¢ | Sl A AR el o T
T IO A 1 T 0 g ST €1 39 S 9l & R
% foru 1 7 99 ey R 3 T Hf ) 3x1=3

‘Consumption of energy in all forms has been rising all over the country. There
1s an urgent need to develop a sustainable path of energy development and

energy saving. Suggest and explain any three measures to solve this burning
problem.

Fl U6 6 BT T SR W S I iR Fiee | o T g B HY fye €2

Classify industries on the basis of source of raw material. How are they different
from each other ? 1+2=3
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" orEH # AT wegll @ wete el & fouRl oK W ¥ ow H aoeem 9
STEYROT ot "' Tk S HUT FT qfie wifee |

“The plantation workers in Assam had their own understanding of Mahatma
Gandhi and the notion of Swaraj”. Support the statement with arguments.

ST H TEeEt S | & SR TR R 1 e G R T A ? see g
Teraei w1 T S | 1+2=3

What type of flag was designed during the ‘Swadeshi Movement’ in Bengal ?
Explain its main features.

e TS Tafaeraredi § e et s g1 soptl afed sy w3
gfte Fifem |

“Democracy accommodates social diversities. Support the statement with
examples.

ST S H TR HIY o6 T wrlall 793 Senei o v s T g 3
RS

Explain by giving examples that Multinational Corporations (MNCs) are
spreading their productions in different ways.

T & T w5t et fafire g &1 99 9fed 59 e @) wEitad 3
CIAELS

‘Credit has its own unique role for development’. Justify the statement with
arguments.

1830 1 X T X W Nh FfoTgat oo s’ | ww whe wom W e

FifvT | 3x1=3
: arerar

71 i firg e anl s & faeg 93 § fawefwt ¥ fau e fag

T’ | Gkl Wied ®UF HI e Hifew

“The decade of 1830 had brought great economic hardship in Europe”. Support
the statement with arguments.

OR
“The Ho Chi Minh Trail became advantageous to Vietnamese in the war against
U.S.” Support the statement with arguments.

5 | - PITO.
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ST Seferereet TR SYSIeiv & FUTEl ohi SRl wfed ooi Hifsre | 5x1=5

Describe the impact of globalisation on Indian economy with examples.

TR Ml 7 IR SRl % S Ui STEs Al Fi SR IE A (oA ?
T RIS |

Why did Mahatma Gandhi relaunch the Civil Disobedience Movement with
great apprehension ? Explain.

1]

I § TgF UREET o ¥4 Suisera =l og v Tueel S T iy | 5

Explain any five major problems faced by road transport in India.

Sireaier & & 0N &1 T8 TR e FRErT 8T Teed 3 fore enseRy semEn
S WHAT T ? IS Yid U Y | 1+2+2=5

How can the formal sector loans be made beneficial for poor farmers and
workers ? Suggest any five measures.

IR SA1 R YURA F A0 K 79 399 sy 3R ST SAme ity | 5

Suggest and explain any five measures to reform political parties.

WiE F AR ¥ YT B T R 41 g geetTs 8§ S miwen

TGN %1 FHEY foRan o g0 sawe At aeawTa iR 69 99 Fa 1 qoh

Afsd 39 Hua & fagerao Hifem | 5x1=5
3rerar

Y | =l et drdie] 3 fagaam @ favee e faee aitomresy w1

A 1 JEen A AT = g5 94 § g7 T awf ofed @ Fm W=

Torgetoor I |

“Napoleon had destroyed democracy in France but in the administrative field
he had incorporated revolutionary principles in order to make the whole system
more rational and efficient.” Analyse the statement with arguments.

OR
“The peace negotiations in Geneva followed the division of Vietnam that set in
motion a series of events that turned Vietnam into a battle field.” Analyse the
statement with arguments.
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27. AW WSF Yieed a7t o Yot qfiee % erden et gigusie 21 9] wh
9 U H FHUH HIfAT | 5x1=5

“Roadways still have an edge over railways in India.” Support the statement
with arguments.

28. 'R o ToTT TSI <A 1 T ST T ¥ 5 wed i Seme whk
[ENGERENELY 5x1=5

“Political parties are a necessary condition for a democracy”. Analyse the
statement with examples.

29. ?ﬁT{E‘&TﬂTA,Bﬁtcw%ﬁqwmﬁ‘m’?@—ﬂﬂﬁﬁ(wgm),ﬁmm
T E 1 e ® ffated wHer S weEe @ i o) 9 I
aHfes | wi= 73w w fafgo . - 3x1=3

A, EE TM SRl Rl et TR 3 T e e
B. H% TN W AUEAN AT 999 o ¥ g9g T

C. o T el WA UL Hile 1 Aa9E ga7 o)

Three features A, B and C are marked on the given political outline map of
India (on page 9). Identify these features with the help of the following
information and write their correct names on the lines marked in the map :

A.  The place where cotton mill workers organised Satyagraha.
B.  The place related to the calling off the Non-Cooperation Movement.

C. The place where the Indian National Congress Session was held.
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diT:  TEates I SO0 gheaif uiantiar % o v T 20 F wE W e -
29.1) SR fAfey, Sl gl Huer e wergdi 3 weamre fFa a1
(29.2)  STHEAN STRIT Fi AITH T B Graifya T o1 A7 fafEn |
(293)  feumR 1920 # 9N U Hi" 1 Iy we gen o ?

Note :  The following questions are for the Visually Impaired Candidates only
in lieu of Q.No. 29 :
(29.1) Name the city where cotton mill workers organised Satyagraha.
(29.2) Name the place related to the calling off the Non-Cooperation

Movement.

(29.3) Where was the Indian National Congress Session held in
December 1920 ?

80. R < ST T Trifoss T@-wmies (9% 11 W), § FHefafad =) 7 fasi 4
q9IiET 3iR & AW fafeu . 3x1=3
A 9 & - forer
B. Tl 9 399 w4 - firemd
C. THE 9! U7 - Hif=
On the given political outline map of India (on page 11), locate and label the
following with appropriate symbols :

01l Field - Digboi

Iron and Steel Plant - Bhilai

Major Sea Port - Kochi

owp

qie:  Trefates T Sew gheanfie wdamiar ¥ fo Wt 9o 30 % e | E -
(30.1) TeEE oa aF frm T F fem ¥2
(30.2) 3 A &1 A fafay, Sl e e ot o 37 fog 3
(30.8)  URd % [T 92 W TEq wag S Wi W v w5 A e

Note :  Thetollowing questions are for the Visually Impaired Candidates only
in lieu of @.No. 30:
(30.1) In which state is Digboi o1l field located ?
(30.2) Name the state where Bhilai Iron and Steel Plant is located.
(30.3) Name the Southernmost major sea port located on the eastern
coast of India.
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